Pull of x for PV

Ratio

Pull of y for PV

Ratio

Pull of z for PV

Ratio

x [%]

L - L g L
B e SRR D Zeeeebeeehe B Aeeeebeesbe b
L = L s L
L o L S L
L : : : : : L : : : : : 5 L : : : : :
0.8 s e AR e e 0.8 e P R e e o 0.8 s e AR e e
r : : : : : r : : : : : ) r : : : : :
r : [ : : : : : E [ : : : : :

. Y SR SR SR e s T S S S S s

: B . . . . . x B . . . . .
L : : : : : L : : : : : S L : : : : :
e e s T L S o e o

L et s S S O NS R s S S N S

S e S S SR R=} S R e S SRR SR i=} S R e S S SR
[ = [ T [
[ . o [ 24 [

[ e S b bbby R R [ e i b s h b Rl R (O] e R b bbb S bbb S

%60 =40 —20 0 20 40 60 %60 =40 —20 0 20 40 60 %0 =40 =20 0 20 40 60
Vertex z (cm) Vertex z (cm) Vertex z (cm)

= Bl e i

e

T S R

0.

nmur; 3

I

[@s=un)
annngde
CU0),
_——

[EBsmn]

Pull ot y

XA LUK

o e ff e

=
(2]
[
=
(o))
!
Pull of y for merged vertices

>

FPETI NI A1 IArarar | P P | P e e I FE e A I PR EEE FEE
. 4 . . L4 . . .

Ratio
Ratio
HI L] T

20 -15-10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

o =15 -10 50 5 10 15 20 80 =15 =10 -5 0 5 10 15 20

2 N 2 T T 0w 2
L — L H H ) L
[ =] [ 110 o
T = L 110 = N A I
P : : : : : : S P p L] o Foo i :
T R T a 18-+ Fe . S A R -] U .
Lo L 110 ) Lt
A S S S o i 1]: 5 I
I : : : : : : L : : : e [ : :
e T s ] (R I Y. o R
R C LT : N Coo i
e T S S S S Lapr T B LAp b
Foorr o oo T 5 Foo
Foo : : : : : : F o F 1
O e e e R O A B I

Ratio
Ratio

i

v
PEZ 3

2015 -10 -5 0 5 10 15 20 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)




	Contents
	Page 1


